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RELACAO DO ACO

N

(Data: 14/09/18

) CUnidade: cm

Vi V2 V3
\VZ% V5 V6
V7 V8 V9
V10 Vil
ACO N DIAM | QUANT | C.UNIT C.TOTAL
(mm) (cm) (cm)
CA60 1 5.0 903 111 100233
CA50 2 8.0 1 374 374
3 8.0 1 207 207
4 8.0 2 1132 2264
5 8.0 1 797 797
6 8.0 1 175 175
7 8.0 2 1193 2386
8 8.0 1 197 197
9 8.0 2 566 1132
10 8.0 12 1198 14376
11 8.0 3 1200 3600
12 8.0 3 503 1509
13 8.0 3 578 1734
14 8.0 3 608 1824
15 8.0 1 353 353
16 8.0 1 182 182
17 8.0 2 1136 2272
18 8.0 1 180 180
19 8.0 1 353 353
20 8.0 2 1139 2278
21 8.0 3 1105 3315
22 8.0 1 298 298
23 8.0 1 152 152
24 8.0 2 1163 2326
25 8.0 1 148 148
26 8.0 1 305 305
27 8.0 2 713 1426
28 8.0 6 705 4230
29 8.0 1 395 395
30 8.0 1 115 115
31 8.0 1 171 171
32 8.0 2 1130 2260
33 8.0 6 1168 7008
34 8.0 4 361 1444
35 8.0 4 1081 4324
36 8.0 6 1119 6714
37 8.0 2 341 682
38 8.0 4 1043 4172
39 8.0 2 534 1068
40 8.0 4 256 1024
41 8.0 6 1145 6870 Q
42 8.0 6 187 1122 —
43 8.0 1 393 393 ch
44 8.0 1 120 120 2
45 8.0 1 176 176 [
46 8.0 2 1138 2276
47 8.0 1 611 611
48 8.0 1 84 84
49 8.0 2 1036 2072
50 8.0 1 162 162
51 8.0 1 351 351
52 8.0 2 840 1680
RESUMO DO AGO
ACO | DIAM | C.TOTAL | PESO +10%
(mm) (m) (k9)
CA50 8.0 936.9 406.6
CA60 5.0 1002.3 169.9
PESO TOTAL
(kg)
CA50 406.6
CA60 169.9
Volume de concreto (C-30) = 12.95 m?
Area de forma = 161.82 m?
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